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‘the same number of pupils as those indicated here. It
can be seen that Lincoln was a convenient ppint at that
time, being more convenient to 29 than Purcellville would
have been and less convenient to 11 at Purcellville, 6 at
Hamilton and 1 at Wheatland, or less convenient to 18.

A changed condition Jue to the growth of Purcellville,
the building of the good roads shown on the first map
submitted all of which lead to Purcellville, and the xixzm
use of the automobile which has increased the range of use-
fulness of the high school all Jjustify the change of loca-
tion of this schocl. =

. Under our present law the coﬁnty is the uniﬁ of operation
for public schools. It will cost next year on the besis
of known and definfte financial arrangements for the high
school.

For salaries of teachers $91565

For janitor, fuel, etc., at least_1070

A total of at.least $10225

This money is paid out of general county and state funds
ani high school tuition. It is correct to say that the
cost of $10,000 annually will be borne by the people living
in the neighborhood served by the school. The school then

should be centrally located in this neighborhood.



